HMW &5 — 35778 ok

1586~ HBR « STIRHEIEAUSR

FiRs

© H2RLERN

©® NEXRMEHA
® ik EEE

xR
EH £L{E (mm) p18 | @22 | @27 | @34 | 044 | @55 | @66 | @92 | o125
ezt Fi =2l
fERTRE TR
ERELEE kef / cm? (kPa) 2~8(200~800)
fERREEE € 5~80
HE BHMEER
St BT N7 121 188 253 377 731 | 1059 | 1814 | 3649
TR N o83 125 190 301 431 810 | 1125 | 2266 | 3927
BT {EEh1TiE mm| 25 4 6 8 10 13 16 20 30
FREREOR M3x0.5 M5x0.8 PT1/8 PT 1/4
BETHER k| 0.4 0.6 1 15 22 | 41 5.7 115 20
B - BARSRY s| 002 | 003 | 004 | 007 0.1 0.35 0.45
BB mm +0.01 | +0.02 +0.05
WhaEE gy
. IS NBEES Skaf [ cm? B » ST SRFRE A0S o
HE 1A HMW 34 -8G 2-N8 2
1 2 3 4 5
1| sk EL{E (mm) 2 R RFERREE 3| ke RERS=
18 @18 ki THIRCFESS 1 ff 1 4@
22 222 8G CS-8G 2 Wi 2 1@
27 @27 8B CS-8B
34 @34 TREE 4 | Kk gzl biii)zE AR
44 @44 == #ausR | AMITIERERA —
55 @55 W é N8 NS-8 @27 ~ @125
66 266
92 292 = 51 5| BRI E
125 2125 1 W 118
2 fft 2 1@




HMW &5 — 58 B i o
AELEEEE - SEHMER - EER - BER O RIREHR

REEEE S EER
‘ ‘ BYSH 22 (kg)
v EOMGC HMW 218 0.11
3 o] & HMW @22 0.19
\ HMW @27 0.29
Sre @ HMW @34 0.5
@ HMW @44 0.77
HMW @55 1.42
T!lT.TIITy?—' f HMW @66 2.76
=S N\ e @&— | HMW @92 5.06
R B
7 Tl 1Pm Y ———r=9 [ Db
el LUEE AN  BEEEN
21 12 T 7 RN +5%
NN
® 19
FHMER
HRER HR 7E ARER HE ME
01 i} FEE 14 &R O BUIR it AR
02 mA R 15 AR &5
03 e &8 16 E &4
04 EE Bae 17 5H8 X AR itsmaE
05 s Bae 18 SEE X AR itsmiE
06 S T 19 A58 O AR itsmAe
07 AR Bas 20 AEB LB &4
08 EMUEE 22l g 21 BREIRE it SRR
09 7% [t ] 22 [EARLE iR 4% E&iE
10 iTiERARARE FE=E 23 SREEIRIRAL a2l
1 AR @ 24 I FeEsH
12 BRI | 25 B8 O RUE itsmpe
13 Fih 0 BB i ShA2 26 AR L8R 4% CEai|
HEROMIRETHR e
BAL i mm
(=] 13 8 0 BIIR | 14 Kk O BUIR 17ZABE X BIR | 17 AR 18 ;52 X Bl 19788 O BUIR | 257sB8 O BUIR
B O\ HE 1 1 1 1 1 2 2
HMW @18 @5x301 P16x01 4.47x8.03x1.78 14x17.56x1.78 P2x@15
HMW @22 d6xd1 P20x01 5.29x8.85x1.78 18.77x22.33x1.78 029x01
HMW @27 P4xd1 @25x01 MY-8A 23.52x27.08x1.78 ?29x31
HMW @34 d6xd1 ©28.7x@1.17 10.82x14.38x1.78 23.52x27.08x1.78 P2x@15 @2x01
HMW @44 d6xd1 J40x0 1 10.77x16.01x2.62 PSD-44 @2x3 1(4pcs)
HMW @55 p8x@1 | @52x01 13.95x19.19x2.62 48.9x54.14x2.62 22x01 25x01
HMW 266 210x01 | ©60.04x01.78 ] MY-16A  |59.92x66.98x3.53 24x01
HMW @92 210x01 | 080x@2 ] MY-20A  |85.32x92.38x3.53
HMW @125 P12x01 @117.07x @ 3.53| 32.99x38.23x2.62 117.07x124.13x3.53




HMW &5 — 35778 ok
XEHEHEE

REFNHFIEE

(HMW 18 - OPEN )

120
- BEF3: kgffen?
~ %
R 83— —~——7
4 60 —
By 67 5
2 —_— 53
30 R
0
10 30 50
EEFERE L mm
(HMW 22- OPEN )
200
BEF73: kgffem?
- 150
ﬁ 100 125~ o
= 98
2 — EGE
J—
0
10 30 50
EEFERE L mm
(HMW 27- OPEN )
300
aos BEF73: kgffem?
P4
R 190 —— —~_
150 7|
% 115\\5
75 —_ 110
3
0
10 30 50
EEFERE L mm
(HMW 34- OPEN )
420
s ] B H3: kefien?
15
; 303 T~
N 210 23! —s—]
8] —
105 —
0
10 30 50

BIEFERE L mm

(HMW 44- OPEN )

800
B 77: kefjen?
600 —~
z
431
B 400 —
5 T—~— | 225
® L0 — | 322 T
3
0
10 30 50

EFRRE L mm

(HMW 18 - CLOSE)

120

B2 77: kgfjen?
AN I — —
= " - &i\\% 5
N
0
10 30 50
BHERE L mm
(HMW 22- CLOSE )
160
] BE73: Kkgf/em?
z 120
—
INEY e
& —_— 72 °
™ 40 I e
0
10 30 50
EHERE L mm
(HMW 27- CLOSE )
240
T EE3: Kgifem?
2180
R 12 %\ 7
# 5 |
& N — | 107
— |
0
10 30 50

BHERE L mm

(HMW 34- CLOSE )

400
—~ BEEH3: kef/em?
_, 300
R 200|283 T
H
£ 197 —
=4 —_
100 LSO
0
10 30 50

BIFFRE L mm

(HMW 44- CLOSE )

600
(B . 2
s 450 \ B 73 kgf/cm'
Hs00 377 I
= 150 —* [ Z |
0
10 30 50

EFRRE L mm




HMW &5 — 35778 ok
XEHEHEE

REFHHEE

(HMW 55 - OPEN )

(HMW 55 - CLOSE )

1000
BE77: kgfjem’
= 750
730 — T
I \ 7
# 500 60 —
+ 5
&8 — 490
\
250 E——

0
50

10 30
EFRRE L mm

(HMW 66- CLOSE )

1600
B277: kgf/em’
= 1200 i
N 1059 —— —
w800
& 800 ———_ 5
= —_— 610
400 3—|
0
10 30 50

EFRRE L mm

(HMW 92- CLOSE )

3000 T
~ BEF3: kef/em?
= 2250
2 00 1814~ T~ 7
o 1478
i) — ey —
2 15 — | 1205 T 0 |
3
0 70

(HMW 125- CLOSE)

30 50
IEHERE L mm

1200
B77: kgffem®
= 900 —
—
5 ool 0 —
e 671 —
- E— 532
300 s
0
10 30 50
IEREEE L mm
( HMW 66- OPEN )
1600
—~ B 77: kgfjen?
= 1200
R 1125~ T~
w800 958 —
o -] 710 °
400 —— 3 —
0
10 30 50
EFEEE L mm
(HMW 92- OPEN )
3000
BE77: kgffem’
= 2250 [55c>
R e,
4 1500 — 1534 ——5s
& 1302
750 E— 3—
0 30 50 70
EEFERE L mm
(HMW 125- OPEN)
6000
~~ B 73: kgffen?
4500
3927
f 3000 3088 i .
& 1500 Tr— | 347 o |
3
=T 30 50 70

IEHEEE L mm

6000
BEF7: kef/em?
- 4500 ™~
3649
3000 — —
i 2865
i — B ——
1500 5
3
0
10 30 50 70

EHFERE L mm



HMW &5 — 35778 ok
EBH R REER - KEEERR

BB RBER
BERR itk FI1E (mm) RINEHEEEA (kgf/cm?) | M _ESB4XFL (mm) BREEEFS (N)
Open 83
HMW 18 18 2 4-M2.5x0.45Px4dp
Close 77
Open 125
HMW 22 22 2 4-M3x0.5Px5dp
Close 121
Open 190
HMW 27 27 2 6-M4x0.7P
Close 188
Open 301
HMW 34 34 2 6-M5x0.8P
Close 253
Open 431
R HMW 44 44 2 4-M6x1.0Px10dp
Close 377
Open 810
HMW 55 55 2 4-M6x1.0Px9dp
Close 731
Open 1125
HMW 66 66 2 4-M10x1.5Px13dp
Close 1059
Open 2266
HMW 92 92 2 6-M10x1.5Px13dp
Close 1814
Open 3927
HMW 125 125 2 6-M12x1.75Px18dp
Close 3649
5 AWEE AR 0.5 kgflem? * MBI IFREERS o
ZREERER
2B EERIRAFL 3.EAARAEmEFLEN
- T
B o
| ‘ | | ‘ }
i i
I [
[ |
{1l I
| N
| |

A e
i |

R
s v

=

=H)

B

Sk




HMW &5 — 35778 ok
SVERERR

HMW 18 ~ 125
BARF:AL / FARF:A2
) B
Ic
D I

ad

¢

B

w
i *M i AN 4-AK
—~—
AB _| A
= ‘ z| 2
AA AL
NS
sl ] 1
& D, 7 2| ©
w o | o @
‘ ]| =
‘ N ‘ ‘ ‘ 2-AH
~—— =]
2-4EFLH K 2-M
2-1 Bi@ J EHEA
|
= v =) fivd
EMUEEMEHRAE
4REE 27
4EFEAS Lo HMW - 92 ~ 125
$ T T P AN'S02
’_—>‘ 6-AK
Rt . »
NP b -
Lo @5 ] ‘ I aL AL | <
O
‘ w 2x |
247U v < L
/| T
B mm
v
RIgE Al |[A2 (B| C |D|E|F|G H | J|K| L M [N|/O|P| Q R S T
HMW 18 44.4 | 49.4 | 45 | 148 |3.5| 24 |16|15.2 @4.8x9dp |D2.6 - 32 22 M3 8 | 11 |24 |24.7|@25 M3x0.5Px10dp 7.9
HMW 22 56 64 |57 |20.7 |3.3| 30 |22|17.7 @6x6dp 3.3 - |35 25 M5 [10(145|/30| 31 |@3.3 M4x0.7Px10dp 9.5
HMW 27 62.4 | 74.4 |64 |21.7 | 4 | 36 [25|22.2 | @7.2x11dp |@4.2 |70 |42 |305| M5 |10|17.5/38| 39 |@4.2 | M5x0.8Px10dp |11.6
HMW 34 79 95 |80 |26.7| 5 | 42 |35/ 29 @9x12dp |@5.1 |83 |52 |375| M5 [12| 20 |48| 49 |@4.2 | M5x0.8Px10dp 13
HMW 44 99 119 |100| 32 6 | 50 (35| 31 @11x10dp |@6.6 [101| 66 | 49 |PT1/8| 15| 25 |54| 55 |@5.1 M6x1.0Px10dp 15
HMW 55 123.8|149.8|/125| 40 |7.4| 60 |40| 38 @14x15dp @9 (120(82| 61 |PT1/8| 15|30 | 62| 63 |@6.8 | M8x1.25Px10dp | 19.8
HMW 66 159 | 191 |160| 50 9 | 72 |50| 45 @14x17dp @9 |145|100| 74 |PT1/8| 18|28 |76| 77 |@6.8 | M8x1.25Px10dp | 22.6
HMW 92 200 | 240 |200|67.5 | 12 | 95 67| 59 |@18.5x12.5dp |@12.5|180|128| 100 |PT1/8| 18| 44 | 97| 98 |@10.5 | M12x1.75Px15dp | 24
HMW 125 | 260 | 320 [260| 87 | 15 |135|93| 78 |@18.5x12.5dp |@12.5|220|175| 134 |PT1/4| 25| 66 |128| 130 (@12.5| M14x2.0Px30dp | 25
B 1 mm
RUgE ek U Vi w X Y z AA | AB | AC |AD|AE | AF |AG AH Al [AJ AK AL| AM |AN| AO
HMW 18 @5x2.5dp |32 20.4| M3 |18 | @3x5dp | 6.8 | 12.2| M3 | 9| 38| 22 |12 | @5x2.5dp |2 | 4 [IM2.5x0.45Px4dp | 8 | @2.8 | @4 | @3x3dp
HMW 22 @6x3dp (35|22.8| M3 |22 | @3x3dp | 10 | 15.6 | M5 |13| 42| 25 | - @6x3dp |2 | 4| M3x0.5Px5dp |12|@3.3 |@5 -
HMW 27 @8x3dp |42 |27.6| M3 |27 | Dax6dp | 12 | 18.8| M5 |15| 52 |30.5/20 | @8x3dp |2 |5| M4x0.7Px6dp |13|@4.3 | @6 | @4x5dp
HMW 34 @8x3dp |52 | 37 M3 | 32 | @4x8dp |14.4| 22.8 | M5 |20| 63 |37.5| - @8x3dp |2 |5| M5x0.8Px6dp |16|@5.3 | @8 -
HMW 44 @10x4dp |66 | 49 | M3 | 38 | @5x6dp [17.8| 27 M5 |24| 81| 49 |50 | @10x4dp |2 |5| M6x1.0Px10dp |20 |@6.3 |@10 @5x5dp
HMW 55 @12x4dp |82 |56.8| M5 |45 |@6x10dp [19.7| 32 M5 [26]100| 61 | 60| @12x4dp |2 | 6| M6x1.0Px9dp |24|@6.3 (@10 @6X6dp
HMW 66 @12x4dp [100| 76 | M5 |56 |@6x12dp | 26 | 42 M5 |32|125| 74 | 76 | @12x4dp |2 |7 | M10x1.5Px13dp | 32 |@10.3|@14| @6x7dp
HMW 92 @18x4dp [128| 100 | M5 | 68 |@10x12dp| 28 | 45 M5 | 48|160| 100 |100(@18x12.5dp| 2 | 7 | M10x1.5Px13dp | 22 ‘QlO.S‘Q14 @8x8dp
HMW 125 | @18x4dp 175| 134 |PT1/8|100 |@10x12dp| 40 69 |PT1/4|67|200| 134 |140/@18x12.5dp| 2 | 7 |M12x1.75Px18dp| 30 ‘ZlZ.S‘ZlBQlOXlde




HMW &5 — 35778 ok

RESEERERSE*
RERREMNE
% NS-8
CS-8B/ CS-8G
RS O RERZ R HEEHE
RESEERAE L > BEEBHEE -
BB E © B RIS (RSB @@%ﬂ RSB
WE ; TR SR> B A% 0.5mm 11—
EEZSE o g %
I i
B VAV ,,,,%,,,,, _

|
B EFEE(G)

|
BFEER) !EJ{’E%E(F)! RHEER)

BEBENE
O RFEZRELR
==

cs-8B é
fEAERE : DC5~30V

_ p— ] é(_)
cs-s &
fEREE : DC5~30V &



	3.0-B_部分947
	3.0-B_部分948
	3.0-B_部分949
	3.0-B_部分950
	3.0-B_部分951
	3.0-B_部分952
	3.0-B_部分953

